VOLVO FM / FH sun visor fitting instructions 5052 - 5054

1. Screw M6x30 2. Cover collar 3. Cover hat

4. Rubber washer 6mm 5. Rubber washer 3mm 6. Washer 6x22

7. Nylok nut M6 8. Hexacon screw 9. Washer 8x25

10. Rubber gasket 11. Collar 13x11 12. Nut cover hat M8
13. Hexacon screw M8x20 14. Nylok nut M8 15. Washer 8x17




